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Read the instructions and do as directed. 

I. Fill in the blanks with the correct answer.                                        (0.5 x 5 = 2.5) 
 

a. When we subtract one from the smallest 4-digit number, we get_____________. 

b. The difference between 2000 and 1000 is _____________. 

c. 1425 - _____________= 0. 

d. 100 less than 5000 is _____________. 

e. 4275 - _____________= 4275. 

 

II. State whether the following statements are True or False.           (0.5 x 5 = 2.5) 

a. When we subtract a number from itself the answer is always the number itself. ________ 

b. Ten subtracted from fifty is sixty. ________ 

c. 3200 – 200 is 3000. ________ 

d. 1000 – 1 is 9999. ________ 

e. The difference between the Place Value and Face Value of the digit 8 in 8976 is zero. 

________ 

 

                    INDIAN SCHOOL AL WADI AL KABIR 
                                            DEPARTMENT OF MATHEMATICS (2023-2024)       

TOPIC: SUBTRACTION                                                                                                  CLASS TEST  

RESOURCE PERSON: Ms. ANJALI BARLA         

NAME: ________________________________ CLASS: III    SEC: ______ DATE: ______________ 

PARENT’S SIGN: _______________ TEACHER’S SIGN: _______________  MARKS: _______/10         

 



 

ISWK-Primary/Department of Mathematics (2023-2024) 

  
 

Pa
ge

2
 

III.    Arrange and subtract the following.                                                   (1.5 X 2 = 3) 

 

a. 975 – 359                                                               b.   3589 – 1273 

 H T O   Th H T O 

         

         

         

         

 

    IV. Read the given word problem carefully and fill in the blanks for the given 

statements.                                                                                                        (2)                                                                                              

 

The population of a village is 7820. Of this 4620 are males. How many females are there 

in the village? 

      

Total population of a village  

Number of males  

Therefore, the number of females  

 

Ans: _______________females 
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